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Find the total surface area of

the pyramid.
9¢em
dem
4d¢m
36 cm®
88 cm*
72 cm?

160 cm®



Volume of composite figure - JSil uSyo a2

Find the volume of the composite U sl el JSED aaa gl

figure shown below.

16 cm

8cm

J 6cm

8cm

16 ¢cm

V=8x6x8+8x16x16

V=8X6X8+8x16x16

V=8x6xXx8+8x6x16

V=6x8x8+8x8x16



Surface area of composite figure _Syel JSil ahhw ol

Find the surface area of the SUd Gaad oS5a) JSAD prhaas Aaliss 2agl

composite figure shown below.

2m

2m Tm

2m

3m

o 10m?
0 24m?
O 30md

0 30m?



Mean (uluxl busgiall

The table below shows the number 2 dsased Sal) axe sUd Jsaad) piagy

of CDs a group of friends bought. hsgiall cual .o Buay) e AS gans Lo id
Find the mean number of CDs. Aaara h_)a})éi} Al H,_.,Luajl
Number of CDs daaall pal i) s
Purchased Wy o3 )

6 4 3 6 4 3
2 0 2 0
O 5 a

o 15
b
o 10 c



Median o gll

Find the median of the following AN @lual ) lasl alagal Jase) caal
Mathematics test scores: 57,35,22,45,40 .
57,35,22,45,40.

o 22 a
O 35 b
0 40 C

0 45 d




The Range .0l

Find the range of the following data: AN alld) sae aagl

11,12,9,5,15,13. 11,12,9,5,15,13 .
® 5 a
o 10 b

O 15 ¢



The mode Jlgiall

The table below shows the daily abind) 5 ad) claya oLl Jgaadl gy
high temperatures. Find the mode. Jsiall aagl cAiagd

29" 2r 200 28° 29 2r 29 2%
28° 29° 62° 28° 29° 62°
o 29
o 27
b
o 28




The outlier ds,lniall dasdll

The ages of candidates in an election P R REN (R JUVE I s
are: 23,48,55,57,63,72. .23,48,55,57,63,72
Name the outlier in the ages of Cpadpal) Ll B A8k Al K
candidates

O 63 a
C 48 b
o 23 c

o 72 d



Find the interquartile range for the

number of texts per day:

24,53,38,12,31,19,26.

& 38—-31=7
o 53-19=34
o 38-19=19

53-12 =41

Interquartile =)l Sl

24,53,38,12,31,19,26 :asd 3






The mean absolute deviation glhall W)=Vl buvgio

Find the mean absolute deviation bl de ganal 3lhal) CilaiN) Jacigia 2agl
of the set of data in the table shown hugiadl G Lale olal puagall Jeand 3
below, knowing that the mean is .60 sslen oluad
60.
Book prices i) )
60 40 80 | 60 60 40 80 | 60
o 4

o 40
o 60
10




Histogram ,)S3l z jaa]l

How many players have ages in the O ea,l.»:i T8 Cpdl) Gaedd) dae oS
interval 32-357 ¢ 32-35
Aglgs of Players on a Baseball Team Josied!) 32,8 3 (e M) Lol
12
10 10
g 8 _ 8
S 6 4 6
g 4 g
2 2
02023 20-27 28-31 32-35 36-39 0 2023 2027 2831 3235 36-39
Age (yrs) (yrs) yead!
o 6
8
O
O 4



box plot Lol $3 §griall blhse

Find the median for the box plot Smaylall 3 (§saiall hhdal gl sl
shown below. oLl uagal)

Average Daily Temperatures for One Month

t t .

| | | 1 1 | | | | | | |
1 I I 1 1 1 I I I I 1 1

™7 19 21 23 25 27 29 31 33 35 37 39 41 43

o 25
o 8
o 33



the appropriate measures duwliall Guuléall

Choose the appropriate measure

to describe the spread of the

distribution below.

Ages of Tennis Players (yr)

+o0 00

L
L
@
L]
!
T

@
e o
| | |
1

o
e o°
| | |
|

) Cpld Clagl quulial)l (ubdall a)

|

(yr) o) =Y Jhsi

W
L J
1 l

e
o
@
l
I

ol

I

|
24 25 26 27 28 29 30

Glaall CilasY) Jau gia

L]
@
@
1
T
31

1 I

32 33 34

@,
mean absolute deviation
gl
o .
median
Jas gl
&
mean
Js¥) s
O

first quartile

T
24

1 I

25 26

27 28 29 30

°
©
[
|
1
3



Which of the following statements

is true about the box plot below?

Roller Coaster Speeds (km/h)

*—9 @ >—ae *

! | ! ! ! ! | |

Box plot juo)lall 3 §gaiall

oLl Cpudaylad) 53§ galal

(km/h) A <l Uad Sl

[ I +—c *

1 ! . | ! Il 1 !

1 1 1 1 1 1 I 1

40 50 60 70 80 90 100 110

50 sl o2) 524

O
interquartile range is 50
o :
third quartile is 90
3oad aa g Y
(@)
there is no gap
& 50 sgles JN) )

first quartile is 50

1 1 1 1 1 1 1 I

40 50 60 70 80 90 100 110



(cm) gHa 3

o N & O

20
18
16
14
12
10

18 cm

6 cm

12 cm

8cm

line graph bzl bl Juieill

ot gadolial dl Al JAd miag
s A Jehy Ll alad 300 8
&uLuJ7



